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PREREQUI SI TES
To benefit fromthis MATCOM Learni ng El enent, you shoul d:

have studi ed the MATCOM El enents "Basi c Econom cs of a
Consuner Co-operative" and "Planning and Controlling the
Busi ness”, or have the correspondi ng know edge;

be able to do sinple percentage cal cul ati ons;

have sone retail shop experience.

HOW TO LEARN

Study the El enent carefully.

Gve witten answers to all the questions in the El enent.
This will help you not only to learn, but also to apply
t he knowl edge in your work at a | ater stage.

After studying the Elenment on your own, discuss it with

your instructor and your coll eagues, then take part in
the practical exercises organised by your instructor.

TRAI NER' S NOTES

are available for this Elenent. See the Trainer's Mnual .

Original script: John Roland
Illustrations: Reinhard Palden

Printed in Turin, Italy, 1982
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Surely, as a nmanager of a co-operative shop you have often
heard argunents over the prices of goods. There are few
conplaints if prices are | ow But people grunble if the
prices are too high

If prices are too | ow the co-operative will |ose noney. If
prices are too high people will sinply go el sewhere. In both
cases the co-operative | oses. | f the problems get out of

hand, the co-operative could be forced out of business.

Therefore, a co-operative cannot afford to have a nanager who
IS uncertain about pricing. No, a shop manager nust be ex-
pert at this work. To do the pricing correctly is one of the
nost inportant responsibilities of a shop manager.

By studying this MATCOM El enent, you too can |earn how to do
the pricing in the right way.



"MARK-UP"

Hi | da makes her living from e —— e
sel ling pineapples at the 2
mar ket .

Hi | da al ways | ooks after the

stall herself. She is very
careful when she buys her
pi neappl es.
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Today, Hilda received 200 pi neappl es from her supplier,
Farnmer Jones. The pineappl es were packed in 4 boxes, each
containing 50. The four boxes were delivered to her stal
in a pick-up truck

An invoice was encl osed in one of the boxes. The total
amount of the invoice was T$80.00.* Hilda paid the truck
driver T$8.00 for transporting the four boxes. She got a
recei pt for the noney. The cost price for the 200 pine-
appl es was T$88.00, jinvoice cost T$80.00 plus transport cast
T$8. 00. 'In some countries they say |anded cost or laid-in
cost instead of cost price).**

Hi | da takes special care when she calculates the selling
price of her pineapples. Her inconme depends on it. She
must make a profit and the only way to do it is to sell the
pi neappl es for nore noney than she paid for them She has
to add a mark-up to the cost price, in order to arrive at
the selling price.

*  We use an imaginary currency here, because the booklet ig used in
many countries. We call it "Training dollars and cents" (T$ and c).

% There s a glossary of terms we use in this booklet on page 46.
Use the glossary when you want to refresh your memory.



So Hil da added a mark-up of 25% on the cost price. She knew
fromexperience that it would give her a reasonable selling
price, not higher than the other sellers'. And she woul d
earn enough to pay for expenses (like the rent for the stall)
as well as to provide her with a confortable living (food for
her famly, etc.). It would also allow for a snmall anmount of
| eakage. She knew that one or two of the pineapples usually
went bad before they got sold.

Cal cul ating the mark-up and the selling price

The cost price for Hlda's pineapples is T$88.00. Let us
now add a mark-up of 25%

The mark-up percent is always

calculated on the cost price. REMEMBER THIS *
How much is 25% of T$88.007?
25 x T$88.00 _ q1ess gp

100

So the mark-up is T$22.00. W add this nmark-up to the cost
price in order to arrive at the selling price.

T$88.00 + T$22.00 = T$110.00
Cost _ Selling
Price + Mark-up - Price

Now we know that the selling price for the whole bunch of
pi neappl es is T$110. 00.

To find the selling price for just one pineapple there is one
more cal culation to make. W have to divide T$110.00 (the
total selling price) by 200 (total nunber of pineapples).

This works out to an individual selling price of 55c each.

T$110.00

500 T$0.55
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Hi | da knew a qui cker way of adding the mark-up to the cost
price. To add 25%to the cost price, she sinply nultiplied
the cost price by 1.25 and she got the selling price
directly:

1.25 X T$88.00 = T$110.00
Mark-up . _ . .
multiplier‘ X Cost price = Selling price

This is such a convenient, quick and accurate nethod that we

should use it, too. W sinply put the figure One and a de-
ci mal point before the mark-up percentage, and we get a

"multiplier”.

For a mark-up of 15% we use the multiplier 1.15 to get the
selling price. For a mark-up of 20% we use the multiplier
1.20, and for 22% we use the multiplier 1.22. A mark-up of
12 1/2% (12.5%9 will give the multiplier 1.125 etc.

Then we multiply the cost price by the multiplier, and we get
the selling price.

Be careful with mark-ups of |ess than 10% You nust have a
zero between the decimal point and the percentage figure.
The nmultiplier for 5%is therefore, 1.05. For 50%it is 1.50.

" Here is a little exercise! Complete the table, do
the calculations.

‘ Mark-up

Cost price Mark-up multiplier Selling price
T$ 8.00 12% o 8.9¢

TS 8.00 15% L

TS 8.00 25% . -

TS 8.00 1219 . -

TS 6.50 4% B

TS 25.00 8%

TS 66.75 22%

T7$125.50 30%




Three days | ater
i nvoi ce cost was T$98.00. The fruit

and she was charged T$10.00 for transport.

a mark-up of 250.

Hi | da bought 250 pi neappl es.

This time the
was packed in 5 boxes
Hi | da agai n used

" Fill in the blank spaces.
® Invoice cost TS
+ Transport cost + TS
= Cost price = TS
_ o Mark-up
Mark-up ° multiplier
X =
Mark-up Cost brice Total selling
multiplier © pric price
Selling price for
one pineapple = TS n = TS

Hi |l da's business at the market is a fairly sinple one. She
buys and sells one itemonly, pineapples. Farnmer Jones is
normally her only supplier. The mark-up renmains pretty well
the sane, approximately 250. But still Hilda nust be aware
of conpetition fromother stall holders. She fully realises
she is trading in a highly perishable item Care nust be
taken that her stock is being properly rotated. Her busi ness

is being well |ooked after.

Do you recognise simlarities between Hilda' s business and
t he busi ness you are responsible for?

| f the mark-up at your co-operative shop was al ways the sane
percentage figure, your job of doing pricing would be equally

easy.
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In a co-operative shop it is inpossible to use the sane nark-
up on all goods. Sone goods have a | ow mark-up and ot hers
have a high one. Later on in this booklet we will discuss

why this is so.

First we wll just practice the actual mark-up cal cul ations

In a co-operative shop. Let us join CGeorge, the manager, in
hi s shop. Toget her we can work towards inproving his and
our skills in calculating selling prices.

Qur first exanple deals with the pricing of soaps which George
has bought from a whol esaler. Here is the invoice.

Cpa/ma Ll‘d) INVOICE NO. 8567

DATE 11.10.82

Alpha Co-op Society Ltd
Linden Highway.

. Unit
Quantity price Total
Delivery Note: 00645 - 9.10.82
Soap, Moon Standard, Medium 10 x 24 21.00 210.00
Transport cost 10.00
220.00




As you can see, the invoice cost for the ten cases of soap
is T$210.00. The transport cost comes to T$10.00. The
total cost price is therefore, T$220.00

It has been decided that soap should have a mark-up of 170
in George's shop

To calculate the selling price of the soap we ask George to

performa sinple multiplication, |ike this:
1.17 X T$220.00 = T$257.40
Mark-up . _ Total
multiplier X Cost price B selling price

To get the selling price for one bar of soap we should divide
the total selling price by the nunber of bars in the 10 cases.
Each case contains 24 bars, so George has received 240 bars

of soap in all.

T$257.40 + 240 = T$1.0725
You can see fromthe cal culation that each bar of soap should
sell for T$1.0725. But we need only two decimals, so we round

off to T$1.07. This is the selling price for one bar of soap.

Here i s another invoice:

.SUVA BOTTLING COMPANY-

INVOICE NO 4469 DATE 19.10.82

To: Alpha Co-operative Soc. Ltd,.
Linden Highway.

Deseription @ Total

5 cases x 12 bottles orange drinks,
large 45.60 228.00

228.00
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What is the freight or transport cost? It is not nentioned
on the invoice. It is included in the price, according to

the practice of the Bottling Conpany, which delivers the
drinks in their own trucks.

So the total cost price is T$228.00 for the 60 bottles of
orange dri nks.

CGeorge uses a mark-up of 20% on soft drinks. Help himnow
to calculate the selling price.

' First calculate the total selling price for the
' whole lot.
® . _
Mark-up . Total _
multiplier Cost price selling price

Then calculate the selling price for one bottle.

Total Number of Selling price
selling price bottles for one bottle




Here is another invoice fromthe Co-operative Wol esal e So-
ciety, covering a nunber of different articles:

A v \ INVOICE NO 8691
‘A“ b DATE  9.11.82

Alpha Co-op. Society Ltd,

Linden Highway.

. . . Unit _

Description Quantity Price Total
Delivery Note 00783 - 2.11.1982:
Towels, medium size 6 4,00 24.00
Shorts, boys, size 2 3 8.20 24 .60
Torch batteries, 1.5 volt C 10 1.42 14.20
Cooking pots, 2 litre aluminium 2 6.10 12.20
Bowls, stainless steel g 7. 44 37.20
Tablespoons 12 0.60 7.20
Matches, box of 100 packets ] 8.30 8.30
Bicycle tyres 28 inches 2 7.25 14.50
Biscuits, Crown, carton of 50 packets 2 105.00 210.00
Tea, Glory, carton of 24 packets ] 67.20 67.20
TOTAL 419,40

Let us now hel p George to calculate the selling prices:

First we have the towels, what is the cost price? The invoice
says T$24,00, but we nust renmenber the transport cost. Wll,
the CW5 has delivered these goods to the shop and the prices

t hey charge include the transport costs, like in the previous
exanpl e. So we can | ook upon the prices as the total cost
prices, and we can easily calculate the selling prices.

All the itens fromthe invoice are listed in the table on
page 12. Fill in the tables, but study first the exanple of
the towel s:
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g The cost price for the towels is T$24. 00.

b) CGeorge uses a mark-up of 200 on towels. So we nultiply
T$24.00 by 1.20, the total selling price will be T$28. 80.

¢) W now have the selling price for 6 towels. To get the
price for one towel we divide T$28.80 by 6. That is

T$4. 80.
‘ Now complete all the calculations. Use the
' following mark-ups: Shorts 25%, batteries 40%,
pots, bowls and tablespoons 30%, matches 12%,
@ tyres 18%, biscuits 12% and tea 10%.
Total % Mo Tt Total | Unit
Article Quant. cost Mark-~ 1 i o selling |selling
price up prre price | price
towels 6 24 .00 20 1.20 | 28.80 L. 80
shorts
batteries
cooking pots
bowls
tablespoons
matches
bicycle tyres
biscuits
tea
Iransport costs
"I can see a problem here", says CGeorge. "I understand the

principle: we nust first add the transport cost to the invoice
cost, then we calculate the mark-up and the selling price.

This invoice fromCW5 is easy to deal with, because all the
prices already include the transport costs. But suppose that
we suddenly run out of biscuits and tea, and | have to send
soneone down to CA5 to pick up some new cartons. The trans-
port will certainly cost us a few dollars extra and these
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t hings would then cost us nore than they usually do. But
you' don't nean that | should increase the prices just be-
cause of this, do you?"

"No George, you cannot let the prices go up and down from
week to week just because the transport costs vary a bit.
W have to | ook at the transport costs in a practical way
and with conmon sense. The inportant thing is that you
don't forget them they nust be covered by your selling
price. Look at this invoice, for instance. How do you
deci de how nmuch the transport cost is for the cenent, for
the nails, etc.?

W.O.Paterson INvoTCE
: 10.11.82
Hardware Supplies 0.11.8
To Alpha Co-op Soc. Ltd
Linden Highway.
Item Price
3 bags cement @ 45.00 135.00
3 plastic buckets @ 5.20 15.60
12 pkts nails No. 24 @ 2.40 28.80
.1 bicycle "Hermes" 460.00
). p -~
Dad L Willys s 639. 40
o Aanrped T

"In cases like this, when you pay transport costs separately,
| suggest that you sinply calculate the mark-up on the in-
voi ce prices, but you have to set your mark-up percentage
hi gh enough so that it will cover the transport cost as well.
In that way you avoid conplicated cal cul ati ons of transport
costs. Your transport cost may vary a little fromweek to
week, but the selling prices should not change unless there
Is a change in the invoice price."
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MARK-UP AND MARGIN

TRADING REPORT
I JAN - 30 JUNE

ESTIM. | ACTUAL.; DIFF.
120,000 120,000

/-COST OF \ |
coops soLp | 100,800 1103,5601

= GROSS SURPLUS | | o
S SURS | 19,200 16,440 -2.760
T O Ry 14,100 | 14,1005 =

g \TNET SURPLUS | 5,100 2,340

A

The commttee was very upset. Joe, the manager, had a | ot
of explaining to do. Wrst of all, he was not quite sure
how t o expl ain what had happened. The sal es turnover for

t he past six nonths had been very good, T$120, 000, exactly
as pl anned. But what had happened to the surplus? The so-
ciety had planned to make a gross surplus of T$19, 200 but
now it appeared that they had reached only T$16,440. !There
was a shortage of T$2,760. If this trend continues for the
rest of the year, the co-operative will be short by nore

t han T$5, 000 by year end.

When the budget was prepared nore than six nonths ago, Joe

had agreed with the conmittee that a margin of 16% would be
realistic for the type of business he was then hired to manage.
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16% on the estinmated sal es of T$120, 000 shoul d give themthe
desired margin of T$19, 200.

Joe had wanted to do a good job for the co-operative. He
had been extrenely careful to prevent unnecessary | eakage.
He had wanted to achieve the 16% margin.

And now he felt as if he was on trial for being dishonest.
Sonme of the commttee nenbers were accusing Joe of having
been extrenely carel ess. It was not a pleasant neeting.

Joe had nade a m stake. Since he had been told to use a
mar gi n of 16% he had consistently used an average nark-up
of 16%  But 16% nmark-up is not the sane as 16% nargin, that
was his great mstake ...

The mark-up is always cal cul ated on the cost price (see

agai n page 5). 16% mark-up on the cost price gave Joe
T$16, 440.

16 x T$103,560
100

But the commttee wanted 16%nmmrgin

T$16,440

And the margin is always
cal cul ated on the sales REMEMBER THIS *
(selling prices).

The sales were estimated at T$120, 000. So the committee
wanted a margin of T$19, 200, as you can see fromthis
cal cul ati on

16 x T$120,000 = T$19,200
100

And poor Joe used 16% mark-up, believing that this was the
sane as 16% nmargin. In fact, he achieved a nmargin of only
13. 7% because 16,440 of 120,000 is only 13.7%

T$16,440 x 100

TS120,000 13.7




To make the difference between mark-up and margin absolutely
clear, let us take still another exanple:

George, the shop manager,
pur chased a bicycle from
t he whol esal er at a price
of TS 800 COST PRICE

He marked-up the bicycle with
250 of the cost price + TS 200 4+  MARK-UP

and he planned to sell the
bicycle at a price of

H
-
(]
o
O
O
Il

SELLING PRICE

Now, let us |look at the sane
transaction a bit later, when
George had sold the bicycle
to a custoner.

Ceorge actually sold the
bi cycle at the price of T$1,000 SELLING PRICE

He had paid the cost price of - T$ 800 - COST PRICE

On a sale of T$1,000 he made
T$200, his margi n was 20% of
the selling price = TS 200 = MARGIN

Stated in noney terns, the margin is here equal to the nmark-
up, that is T$200.

But note that the mark-up is 25% of the cost price, whereas
the margin is 20% of the selling price.

TS 200 . T$ 200 _ 25 _ . _
Cost price ~ TS 800 100 25% MARK-UP
TS 200 _T$ 200 _ 20

: : = I~ = 0% MARGIN
Selling price TS$1,000 100 2
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W have now seen that we need to mark-up the goods 25%to
achieve a margin of 20% and we have seen that a mark-up of
16% gives a margin of 13.7%

In fact, to reach a certain nmargin percentage, we nust use a
hi gher nark-up percent age.

Suppose now that it has been decided that you should ai m at

a margin of 16%in your shop (that is 16%of the sgles -
remenber that!).  vyou nust use a hi gher nmark-up than 160,

but how much? (The mark-up is calculated on the cost price -
renmenber that!)-,

I f you are clever at arithnetic you can calcul ate the nark-
up percentage when you know the margin percentage (use for-
mula (h) on page 47). But to nake it easy we give you a
chart on the |l ast page, where you can | ook up the mark-up
per cent age.

Look at the chart. You can see that 16% nargi n corresponds
to 19% mark-up on the cost price.

. What mark-ups are needed to reach the following
margins? Use the Handy Margin Chart.

15% 182 282
20% 4% 10%
12% 30% 133

It is nowtine for an exercise on price cal cul ation, using
the mark-up nethod and nultipliers.

In the table on the next page you will find a |ist of goods
and informati on about the cost price and the trade margin
for each article.

Use the Handy Margin Chart on page 48 when you cal cul ate the
mar k- ups. Conpl ete the exerci se before you continue readi ng.
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.' Calculate the prices. Fill.in all blank
spaces. Use the Handy Margin Chart on
. page 48.
Quantity/Article giize Margin MZ;k_ g%gZi_ sgizgig sg?%zng
price | price
50 tins tuna fish 108.70 13% /5% /75 RS0/ | 2.50
24 cans veg. soup 38.40 13%
60 cans juice 183.00 187
10 jars mayonnaise 32.80 18%
5 glasses mustard 10.00 20%
100 cans cond. milk 99.10 7%
10 jars jam 34.00 187%
24 bars soap 26.30 15%
6 tubes vaseline 9.60 26%
12 pkts. plaster 36.00 267
10 combs 3.70 267
200 clothes pegs 13.40 23%
2 brooms 8.60 26%
6 pkts. tobacco 23.04 9%
5 t-shirts 42.50 28.5%
10 pairs socks 22.20 28.5%
2 hammers 11.00 257
2 axes 24,80 257%
195 litres kerosene 111.40 8%
1 bicycle 425.00 22%

Check your answers.

See page 45.




- 19 -

DIRECT CALCULATION
OF THE SELLING PRICE

Let us go back to the exanple with the bicycle, page 16

T$1,000 - TS$200 = TS$800
Selling . Cost
. M .
price - a;gin = price
100% ° 80%

The margin is expressed as a percentage of the selling price,
as you know. In this case the margin is 200 of the selling
price. The cost price, consequently, is the renmaining 80%
as the selling price represents the total 1000.

If the margin was 300, the cost price would be 700 of the
selling price;

if the margin was 100, the cost price would be 90% of the
selling price, etc.

As you can see, there is a certain relation between cost
price and selling price, depending on the margin. So, if we
know the cost price and the margin percentage, it should be
possible to calculate the selling price directly.

Yes, |l ook at the exanple again. The margin is 20% Conse-
quently the cost price is 80% of the selling price. This
fact can be witten like this:

80% of the selling price = T$800
Thus,
1% of the selling price _ T$800
h 80
and 1000 of the selling price
[phat I's the whole selling
price) _ T$800 x 100 _ T$1,000

80
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W managed to find the selling price w thout know ng the
mar k- up!

Let us | ook at the cal cul ati on we did:

T$800 x 100
80

= T$1,000

T$800 stands for the cost price, 80 stands for the cost price
in percentage and T$1, 000 stands for the selling price.

So the general fornula for our calculation can be witten
l'i ke this:

= Selling price

Cost price x 100
100 - Margin %

Whenever you know your desired margin % but not your marKk-
up % you can use this fornmula to calculate the selling
price directly, fast and accurately. There is no need for
any handy margin charts or the mark-up percentage.

Let us practise. Suppose you buy a bucket and the cost price
is T$12.

Your margin on household goods is 20%

We sinply put the figures into the formula, like this:

T$12 x 100 _ . .
150 = 20 = The selling price
W cal cul ate 12 x 100 1200
= ————r = T
100 - 20 80 515

W will sell the bucket for T$15, and that will give us a
mar gi n of 20%


ana
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Let us now use the "direct nethod" when we price the goods
on this invoice fromuUnited Gocery Co.

LJ Pd | 1_ EE [) Invoice No: 39cx
GROCERY C¢o Date: 26.11.82

Alpha Co-op. Society Ltd.
Linden Highway

o . Unit
Description Quantity Price VTotaZ
Your order 545/24.11,82:
Coffee, 20 x 1/2 kg 1 140.00 140.00
Spaghetti, 10 x 1/2 kg 2 14.00 28.00
Dried fruit, 10 x 200 g 1 18.00 18.00
Total 186.00

Transport cost is included. The margin on these groceries
is 15% in Al pha Co-operative.

We | ook at the forrmula (or do you know it by heart already?)
and we begin to calculate the price for coffee.

140 x 100 _ 14,000

100 = 1% = —g5 T$164.71

T$164.71 is the selling price for the whole carton of 20
packets. We divide by 20 to get the price for one 2 kg
packet .

T$164.71

50 = T$8.24

. Calculate here, in the same way, the prices for
spaghetti and dried fruit.




" Use the "direct methoc;i" - tl:le formula on page 20—
to calculate the selling prices for the following
‘ goods.
. ' Cost . Total Uni?
Quantity/Article . Margin|selling |selling

prree price | price

40 tins sardines 84.00 157 78 82 247
24 tins tomato sauce 50.40 15%
12 jars marmalade 43.20 17%
50 bags milk powder 64.00 87
10 tins baking powder 11.50 12%
50 kg beans 31.50 8%
150 kg 7rice 109.50 67%
50 kg maize flour 37.50 8%
60 bottles cola drinks 25.50 20%
48 tins baby food 78.72 18%
20 bags sweets 40.00 287%
20 metres cloth material 84.00 257
‘lOO rolls toilet paper 52.50 25%
5 rolls fishing line 32.25 28%
10 cans insect spray 45.70 22%
5 bush knives 47.65 18%
8 bags cement 159.00 15%
3 padlocks 28.10 25%
20 notebooks 12.00 20%
60 pencils 9.00 20%

Check your answers.

See page 45.
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PRICING POLICY

Now you have learnt two different nmethods of calculating the
selling price. You may use the one you |ike best. Wich-

ever you prefer you will need to know two things, the cast
price and the margin. You will find the cost price on the
bill or the invoice, but where will you find the margin
percentage ...... ?

Sometinmes the margin and the selling price are fixed by the
Gover nment . But usually it is left to the retailers them
selves to decide the nmargin and, thus, the selling prices of
t he goods.

In our first exanple on pages 4 - 5 we saw that Hilda used a
mar gi n whi ch was hi gh enough to cover her expenses and sone

| eakage. She al so made sone profit - she nmade her living
fromthe business. The hi gher the margin, the larger the
profit and the nore noney to spend for Hilda and her famly.
So Hilda, of course, wanted as high a margin as possible.

Wiy not 100% or 2000? Wouldn't that give a nice incone to
Hlda? No, if she used such a high margin she woul d earn
nothing at all. The custonmers woul d not buy her pineapples,
they woul d get them cheaper from ot her traders.

Hi | da chose a margin of 20% %/§§N = G
which is the sanme as 25% N ‘,’/4?74“ 55cents [ @
mark-up). This was based on P o ?’ \& £ {f

her experience. She knew
that the selling price would
be acceptabl e by npbst cus-
tonmers and it would al so
give her a sufficient incone.

We can say that Hilda's "pricing policy" was to make the
margi n as high as possible, but not so high that it would
be i npossible for her to sell all the pineapples before the
eveni ng.
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The pricing policy of a co-operative shop is different. The
primary aimof the shop is not to give sonebody a profit or
an i ncone, but to serve the nmenbers. So, as a co-operative
shop manager you should aimat |ow prices rather than a

| arge profit.

Still you will need a margin which is enough to cover your
costs for running the shop, and it should al so give a reason-
abl e net surplus (profit). Fromthe MATCOM El enent "Basic
econom cs of a consuner co-operative" you renenber the reasons
why al so a co-operative needs a net surplus: to allow for

t he unexpected, to inprove the shop and the services, to pay

i nterest on nenbers' shares and so on

Bef ore the begi nning of a new business year, we have to pre-
pare a "budget". W have to estimte the sales and the costs
for the comng year. This will help us to see what margin we
need. (The budget work is explained in the MATCOM El enent
"Planning and controlling the Business".) Here is a sinple
exanpl e of a budget:

ESTIMATES FOR BETA CO-OPERATIVE
Sales T$480,000 100%
Cost of goods sold 408,000
Gross surplus (margin) TS 72,000 15%
Cost of running the shop 52,000
Net surplus TS 20,000 (4.2%)

As you can see, BETA Co-operative has budgeted for a margin
of 150 of the sales, that is T$72,000. When they have paid
the running costs, which are estinmated at T$52, 000, there
will still be T$20,000 |left over as a net surplus, that is
4.20 of the sales. In fact the policy of BETA Co-operative
Is to have nore or less the sanme prices as in the private
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shops, so they earn a considerable net surplus. But at the
end of the year, when they definitely know how nuch surpl us
t hey have earned, they use to pay back as nmuch as possible

of the net surplus to the nmenbers in the form of "patronage

refund". Say, for instance, that the nenbers get back 30 of
all the noney they have spent in the co-operative shop.
After all, the nenbers will see that they benefit fromtheir

co-operative and the patronage refund is certainly appreciated.

In other co-operatives they have a different pricing policy,
so that nenbers benefit fromthe low prices i medi ately they
buy sonet hi ng. That means that the co-operative nust budget
for a lower net surplus. DELTA Co-operative has this policy.
They sell the sanme anobunt of goods as BETA and have the sane
costs, but their budget is different:

ESTIMATES FOR DELTA CO-OPERATIVE
Sales TS466,000 100%
Cost of goods sold 408,000
Gross surplus (margin) TS 58,000 12.5%
Cost of running the shop 52,000
Net surplus TS 6,000 (1.3%)

You can see that they keep so low prices in DELTA that the
gross surplus is only 12.5% and the net surplus is only 1.30
of the sales. Such a | ow net surplus does not allow for any
pat ronage refund, but the menbers and the conm ttee have
agreed on this policy, they prefer to have | ower selling
prices in the shop instead of patronage refund. O course,
the DELTA Co-operative take certain risks when they keep
such | ow nar gi ns. They could not do that if they were not
conpl etely confident in the shop nmanagenent. What woul d
happen, for instance, if there was a sudden and unexpected
drop in the sales or an increase in the costs?
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‘ You have seen that a co-operative society can
have one of the following two pricing policies:

a) "Normal market prices" in the shop, which means
that the society plans to make a good net surplus
and that members should have a patronage refund
at the end of the year.

b) Lower prices in the shop than the competitors
have, which means that the society plans to make
a very small net surplus, and there will not be
any patronage refund to members.

The final yearly costs for the members should be the
same in both cases. Which policy do you recommend?
What about a compromise? Write your comments here.

BETA COOP || ek Coem

PATRONAGEO l

©




- 27 -

TIhe average margin

What ever pricing policy we have in our co-operative, we mnust
manage t he business very well so that we achieve the goal we
have set up in our budget. Suppose, for instance, that we
aimat sales of T$120,000 and a margin of 15% that is

T$72,000, like in BETA Co-operative. How can we meke sure
that our selling prices will earn us a margin of T$72, 000?

O course, we would earn this margin if we marked up every
single itemby 17.5% (15% margin = 17.5% mark-up), and if we
managed to sell everything w thout "mark-downs" or | eakage.

But in practice we cannot do that. Unfortunately it is im
possible to use the sane nargin on all goods. W nust have
a |lower margin on sone goods, and we can have a hi gher nmar-
gin on others. W nust | ook upon the figure 15% as the

average margin. It is a guideline and shows our pricing
policy. But we will have to establish the margin for the
various groups of commvodities we sell. Wat should the nar-

gin be for dry foods, for tinned foods, for dairy products,
for cloth material, for hardware, etc.? Al together the
mar gi ns on the various goods should give the total gross
sur plus we have planned for.

In the follow ng sections we shall |ook into sone matters
to consi der when we deci de margins.

CGCovernnment controlled prices

In many countries, the Governnent deci des the maxi num sell -
ing prices for sone essential goods, |ike sugar, flour,

edi ble oil, kerosene, etc.

The Governnent Price Controllers have - in fact - the sane

role as the co-operatives, that is to protect the consuners
from expl oitation



It is an offence to charae nore than the prices fixed by the
Gover nment . It is true that the margi ns on sone of the con-
trolled itens are very low. But even if they are only a few
percent, and far bel ow your average margin, you have to fol-
| ow t hem

It is a good idea to have
the controlled prices posted

—IL | CONTROLLED

[V PRIcEs

in your shop, so that every-
one can see that you observe
t he regul ati ons.
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.' List here the most important price-controlled items
in your shop, with prices and trade margins.

Contr,
celling
price

Invetee | Transp. | Cost
price cost price

Ttem Margin




- 29 -

Prices and the rate of stock turn

"But if | am expected to
come up with an average nar-
gin of 15 to 16% how can |
possi bly consider selling
bread on which I make only
40 or |ess?", said Ceorge,

t he manager of Al pha Co-
operati ve. Bread is one of

the controlled itens in his
shop.

It is true, of course, that a low margin itemw /|| bring
down the average margin, but it is equally true that a | ow
margin item such as fresh bread, can be a good contri butor
to the trade surplus, if we talk in noney ternms. And this
may be done with a very small anpbunt of nobney invested in
st ocks. Look at this exanple:

The Governnent Price Controller has fixed the whol esal e
price of bread at 50 cents and the retail price at 52
cents a |oaf. Al pha Co-operative gets 60 | oaves froma
delivery van 5 tines a week. That neans that supplies
of bread are delivered and sold 260 tines a year. The
rate of stock turn is 260.

The margin is very low, only 2 cents a |loaf, or 3.8%

But in a year this gives a gross surplus of T$312 (2 cents
X 60 x 260). The total cost price for the 60 | oaves they
buy at atinme is T$30 (50 cents x 60). So the surplus of
T$312 is made with only T$30 invested. This is a very
good return.

To reach the estimted average margi n, George, the manager,
shoul d put a higher margin on other goods which are not
bought so frequently by the nenbers. In fact, selling bread
gi ves CGeorge an opportunity to sell many related itenms with
a higher margin, for instance margarine, jam cheese, bread
kni ves, etc.
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The rule of thunb is that the higher the rate of stock turn,
the lower the margin and the slower the stock turn the higher
the marain.

rFAST SELLERSH —SLOW SELLERSH

AVERAGE
MARGIN
%

— LOW MARGIN — —HIGH MARGIN —

‘ What was the average margin in vour shop last
year?

ov

List six common items in your shop which are fast
sellers and should be given a lower margin and
six items which are slow sellers with a higher
margin.

Fast sellers/low margin Slow sellers/high margin
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Discount offers

¢ K !
You know that when you of fer ﬁ%aguvee |

your custoners a discount or @ﬂ@@@ptﬂn@' %"5!
> S

a "special price", they nor-

mal |y buy nore. The stock | | }
turn rate will increase. As ‘

a rule, when we decrease the ‘ ,

price of an item the chances ! |

are good that the demand for ' —
that particular itemwl| ——

i ncrease. k

When we offer a discount, we will reduce our margin, of

cour se. But if we sell many nore itens to the | ower price,
we may still earn the sane surplus, or even nore:

In Beta Co-operative they had a margin of 22% on kitchen
utensils. They used to sell one cooking pot a week at

T$12. 00. One week they offered a special discount price of
T$9. 95 which reduced their margin to 6% But the sales went
up so they earned a better surplus that week: Study these
cal cul ations:

a) Regul ar price, 1 pot sold each week

Total selling price T$12.00
Total cost price ~9.36
G oss surplus TS 2.64
Mar gi n = 2.64 x 100 _ ,.,

12 °

bh)  Special discount offer, 5 pots sold

Total selling price 5 =x T$9.95 T$49.75
Total cost price 5 x T$9.36 T$46.80
G oss surplus TS 2.95
Mar gi n = 2.95 x 100

I

49,75 % approximately.



You can see that they had a very large increase in the sales
because of the low price offer. This is the reason why the
surpl us was even higher than usual. But what woul d have
happened if they had sold |less? In fact, if they had sold

| ess than five pots, they would have earned | ess surplus
than during a normal week with "normal prices".

Fromthis exanple we |earn that we nust increase the sales
very much if we want to earn an acceptable surplus on a

"special offer", and we had better do sone cal cul ati ons,
like in the above exanpl e, before we nmake a deci sion.

a "special discount offer" is seldom higher than

" Experienced retailers know that the surplus from
from the sales to "normal prices".

But they still have "special offers" in their shops
regularly. What is the reason?

cooking oil. There are 12 bottles in a case.
Transportation costs you 50 cents per case. Your

" regular trade margin on cooking oil is 15%. You
normally sell 3 cases in a week.

.' Your supplier charges you T$30.10 for a case of

a) What is your normal selling price on this o0il?

Answer: TS per bottle.

k) You want to offer your members a "special discount
price" of T$2.75 next week. How many bottles do
you have to sell to keep your normal surplus on
cooking 0il?

Answer: bottles.
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Expected | osses

H | da | ooked after her fruit very well. But she could not

prevent two or three pineapples out of 100 from goi ng bad.
How did that affect the margin?

She sol d the pineappl es at s P00 et 5& ¢ 110,00
Sales 200 a e i .
55 cents each. If 200 were
Cost of goods - 88.00
sol d, she would get T$110. —
Gross surplus T$ 22.00
She had bought them for
T$88. So she would earn Vargin = 22 2 100 _ o,
T$22. That is a margin of ' 100 /
20%
pi neappl es.  Five were | ost. Cost of goods - 86.00
So she got only T$107. 25. Gross surplus ¢ 15.25
She earned T$19.25. That 19 95 3 100
is amrgin of only 18% Margin = ———p55 2z = 187

Hi | da was prepared for this kind of "|eakage". She knew
that it was unavoi dable. So she nmade her margi n hi gh enough.

What she earns on the good pi neappl es should cover the | oss
on the bad ones.

You should do the sane. Increase the margin on the itens
for which there is a risk of damage and | oss. You may not
be able to sell all these goods at full price. So you wl|l
need a higher margin on those you sell

[ ) List some items in your shop which require a
’ higher margin because of the risk of losses.
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Handling costs

For sonme of the goods in the shop we need special equipnent,
li ke freezers and cool ers which are very expensive to buy
and run. For some goods we al so need plenty of work tine,

and this is al so expensive. (Staff wages are nornmally the
hi ghest costs in a shop.)

An itemlike fresh neat, for instance, requires both cooling
equi pnrent and nmuch tinme for proper handling. It is expensive
to keep fresh nmeat in stock

This should be reflected in the selling prices. The neat
shoul d, as far as possible, "pay for its own costs" and
t herefore have a hi gher margin.

As a general rule, we should have a higher margin on the
goods which are expensive to handl e.

most costly to handle? What are the trade mar-

.' Which items in your stock range do you consider
. gins on these items?

.

When you are to decide the trade margin for a certain item
you should first of all think about the rate of stock turn
and the risk of damage and loss for this type of goods. But,
like Hlda, you nust also be aware of the | ocal conpetition.

George in Al pha Co-operative sells mlk in half litre packets.
He thought a margin of 7% would be right for mlk. The cost
price is T$1.20 so the selling price would be T$1.29. But

all the other shops in the area charge only T$1l.25. Many
customers buy mlk alnost daily. They are not likely to cone



to the Co-operative if they pay nore for the mlk there. So
George has to sell the mlk at T$1.25, too.

Thi s does not nean that a co-operative shop always nust have
the sanme or |lower prices than private shops on every single
item But you nust be aware of the prices of your conpeti-
tors. The nost essential goods should definitely not be
avai l able at lower prices in their shops. And the nenbers
may not support their co-operative if they find that severa
itens are cheaper in other shops.

Co-operative. That makes a selling price of
T$42.85 on a nice cotton shirt. The same
shirt is sold at T$79.90 in a store in the
centre of the town. Should George increase
the price to the same amount? What should
he do.

.' The normal margin on clothes is 20% in Alpha
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Manufacturer's -recommended price

Sonmetinmes the manufacturers attenpt to establish both the
whol esal e and the retail prices. Goods in this category
often include beauty and health care itens, confectionary
and sweets. The invoice you receive for such goods will be
a bit different, as it will state the retail selling prices,
A "trade discount” is then deducted fromthe total, normally
the trade discount is calculated as a percentage of the in-
voi ce total. If you sell the itens at the manufacturer's
suggested prices, then the trade discount will be your mar-
gin. Here is an exanple of an invoice with selling prices
and a trade di scount deducted.

Nmith&Co«

Alpha Co-operative Soc. Ltd. 3.12.82

Linden Highway.

Deseription Price

2 cartons 24/82¢c  Vvaseline @ T$19.68 39.36
3 cartons 12/$1.84 Talcum Powder @ T$22.08 66.24
| carton 12/$1.96 Skin Lotion @ TS$23.52 23.52
129,12

Less Trade Discount 25% 32.28

Total 96 .84

As you can see, the manufacturer recommends that you sell the
lotion for T$1l.96 each. If you decide to do so, the trade
margin wll be 25% However, you are free to set your own
selling price. It is not uncomon to sell such itens for
slightly less than the recommended price. Conpetition often
di ctates such a deci sion.



If you sold all the itens on the invoice at the reconmended
retail selling prices your nmargin would be 25%

T$32 28 x 100 - o5
T$129. 12

have to sell the vaseline for 80 cents each,
and the talcum powder for T$1.78 each. The

. skin lotion will sell for T$1.96 as suaggested.
What will your percentage margin be on this
lot? Do your calculations here.

.’ You know that because of competition you will

Summary
.' We hf.:lve now discugsgd what facto;s you ghou.ld
consider when deciding your margins. Fill in
this list, it will help you to remember.

. Factor to consider See pages

26

27
27 - 28
29 - 30
31 - 32

33

34
34 - 35
36 - 37
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FOLLOW-UP THE RESULTS

This is a list of the trade margins applied in Al pha
Co- operati ve.

Govt. contr. items 3-8% Hygiene articles 15-22%
Milk products 7% Drinks 22%
Croceries 9-18% Hardware 20-30%
Detergents 15% Clothes 20%
Vegetables 15-18% Household utensils 23%

How can George, the nmanager, know that all these different
margins wll result in the average margin of 15% whi ch he
has planned to achieve?

To know exactly, he would have to prepare very detailed esti-
mat es of the sales of the various commodities. This is hardlv

possi bl e. I nstead he sinply makes an estimate and tries to
find the balance so that the sales of hich-margin articles
will "lift up" the average margin to 15%

The best way, however, to be sure that the required average
margin is achieved, is to prepare hudgets and trading reports
for every nonth, and to use the reports as "instrunments" for
adj ustnent of the margi n when necessary. The nonthly trading
report wll show what margin we have achieved - is it as

pl anned, too high,or too low? Ii we knowthis, it is easy to
adjust so that we cone to the right |evel

This is a trading report prepared by George for the nonth of
Jul v.

Estimated Actual
Sales TS$140,000 100% 150,000 100%
- Cost of goods sold 119,000 85% 128,000 85.3%
= Gross surplus (margin) 21,000 15% 22,000 14.7%
- Cost of running the shop 15,400 11% 15,400 10.3%
= Net surplus 5,600 4% 6,600 4.4%




The margin in percentage was a little | ess than estimated.
But since the sales were higher than estimated, the surplus
earned is nore than sufficient.

We should not only ook at the margin as a percentage, but
al so check how nuch noney it represents. It must be enough
to pay for the costs of running the shop (salaries, rent,
etc.) and then also | eave a snall net surplus. Suppose that
George's report had | ooked like this:

Estimated Actual
Sales T$140,000 100% 100,000 100%
- Cost of goods sold 119,000 85% 85,000 85%
= Gross surplus {(margin) 21,000 15% 15,000 15%
- Cost of running the shop 15,400 11% 15,400 15.4%
= Net surplus 5,600 4% - 400

This time the margin is 15% as planned, but the noney earned

is not enough to pay for the costs of running the shop. | The
costs will remain nore or less the sane even if the sal es
fall).

If the margin in noney terns (the gross surplus) is hiah, we
are in a pleasant situation. Maybe we can reduce the price
of sone goods. If it is low, we nust first of all find out
the reason, so we can take the right action. Qur selling
prices nay be too |low But the opposite is al so possible -
we may have caused a drop in sal es because of too high prices.
O maybe the sales estimate was not realistic.
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PRICE BOOK AND PRICE MARKING

Now t hat you have mastered
the work of pricing, you
shoul d prepare a price book \
for all goods in your shop. \

It will cost you sone time ,%2%9
and effort to set it up, but
once it is ready it wll be of great help in controlling
prices throughout the shop. It will elimnate guessing; it
will elimnate unnecessary cal cul ation work; and when in
doubt your staff can consult the price book which shows the
up-to-date retail selling prices.

You can use a sinple |oose-leaf ring binder for your price
book.  This way the pages will be easy to change. Use a pen-
cil when making entries in the book so price changes are easy

to record. It may be a good idea to include a colum for re-
order levels so you do not need to have a separate book for
this. |Re-order level is a figure that hel ps you to decide

how big quantity you should order. See the MATCOM El enent
"Ordering goods").

This is a sanple page of a price book.

Item Bulk Re-order % Cost of Total Unit
quantity| level Tradg 1 bulk | selling|selling
Margin | package price price
Cooking oil
1 1it. tim 12 /8 /2 2080 | 23.¢4 | /.97
Salad oil
1/2 1it. 24 /0 /2 3/60 | 359 | /50
bottle
Olive oil 48 20 /2 3650 | “4/48 0 86
1/4 1it. tin
Lard 100 60 /0 | 4734 | 5260 | 053
1/4 kg tin ’ ' ’
/_'\\1 »—/"\/\‘N\/\\
W s/—\\\’\/ \L;\
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When you receive a new consi gnnent of goods which you want
to price mark and take into the shop, you just take a | ook
in your price book - that is the normal procedure.

New price cal cul ati ons are needed only when prices change.

So you have to check the invoices carefully. If there is an

i ncrease or a decrease of a cost price you have to cal cul ate
the new price and change the figures in your book accordingly.

The price book is for your staff, but it is equally inportant
that your custonmers be informed about the prices. In the
MATCOM bookl et titled "Price-marking” you can read why it is
i nportant that all goods should be price-marked, as a general
rule. The bookl et al so descri bes how proper price-markina
shoul d be done.

i - PRICES
l BEER each case
SOFT 3.80  95.00 e
Sopr small |55 5 00 st
’Grge ' o | S22
205 241 et gl
vy T | P _T?gif@

You have now studi ed the basic techniques of pricing, but
practice nmakes perfect, so you nust now start to apply what
you have learnt. Perfection and speed in your pricing work
will come with practice. You will soon notice the change.
There will be no nore guessing. The commttee nmenbers wl|
see that you are able to inplenent the society's price
policy, and nmenbers will trust that your prices are correct.
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"CHECK- OUT"

To prove to yourself that you have fully-
understood this El enment, you should now
answer the follow ng questions. Nark
what you think is the right answer to
each question. I f you have problens
with a particular question, go back and
read the corresPonding chapt er agai n.
Your teacher will later check your

a Yl 1ZGrPY~_

1. The cost price is

a the price you charge your customers;
b t he whol esal e price mnus the transport cost;
C the invoice cost plus the transport cost.

2. The mark-up is a percentage of

a the selling price;
b the cost price;
C the profit.

3. |If the mark-up is 13%1 can find the selling price by
mul tiplying the cost price by
a 13.0
b 1.13
c 87

4, |If the mark-up is 6.5% 1 can find the selling price by
mul tiplying the cost price by
a
b
c

e
oo~

. 65
. 065
5 The margin is a percentage of

a the cost price;
b t he mar k- up;
c the selling price.

6. |If the mark-up is 18% the margin wll be

a 15. 3%
b 82%
c 22%



10.

11.

12.

13.

14.

If the margin is 18%, the mark-up will be

a 15.3%
b 82%
c 22%

If the margin is 18%, the cost price is

a 15.3% of the selling price;
b 82% of the selling price
o 22% of the selling price.

When the cost price is T$6.30 and the mark-up is 18%,
the selling price will be

a TS6.48
b TS$7.43
c T$7.69

If the cost price is T$2.70 and the margin required is
18%, the selling price will be

a T$3.19
b TS$2.88
c T$3.29

If the sales are estimated at T$120,000 and the operating
costs at T$14,000, we should aim at an average margin of

a %
b 10%
c 15%

A Government controlled price is

a for your guidance only;
b to protect you against competition;
C the maximum price you may charge your customers.

The rule of thumb is to have

low margin on fast sellers;
low margin on slow sellers;
o) high margin on fast sellers.

o w

A "trade discount" given by a supplier is calculated
as a percentage of

a the cost price;
b the margin;
c the recommended selling price.



- 44 -

COMPLEMENTARY EXERCICES

To conpl ete your studies of
this topic you should take
part in sone of the foll ow ng
exerci ses which will be orga-
ni sed by your teacher

PRACTICE

Pract Lcal group assignment s in shaps:

1. Price survey

Visit one selected co-operative shop. Discuss with the
shop manager his price policy, and his special pricing
problems.  Check the prices of ten articles fromeach
category of goods - | ow mark-up, average mark-up and

hi gh mar k- up. Are the selling prices calcul ated cor-
rectly? Are there any special displays with discount
offers? How | ong have they been there? How do they
affect the trade margin for that particular itenf

Wite a report on your findings.

2. Prices and conpeti tian

conpare the prices of 20 selected articles in a few
shops in the area. Look for special price offers in

t he shops and note how nmuch the prices differ from
regul ar selling prices. Di scuss with the shop nanagers
what effect the price conpetition has on their operations.

Goup exercises:

3. Speed and accuracy in calcul ations

Practise quick calculation of selling prices. Arrange
conpetitions between groups or individuals, with or wth-
out cal cul ati ng machi nes. Errors nmean disqualification
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4. Average nmargin

Based on the budgets of your co-operatives, work out the
average margi n needed for each nenber of the group.

5. The price boaok
Di scuss how a proper retail price book should be set up.
How wi Il you list the items - by groups or in al phabeti -

cal order? VWhat will be the columm headi ngs? How often
wi Il you make changes in the book? Who should be re
sponsi bl e for keeping the book up-dated? Wiwo will have

access to the book? Prepare a sanple page.

6. Special price offers

Di scuss ideas for special price offers. How will they
affect the sales turnover, the margin and the surplus?
How | ong shoul d each price offer be in effect?

Correct answers to exercises:

Exercise page 18 Exercise page 22
Unit Unit
Article selling Article selling
price price

tuna fish 2.50 sardines 2.47
vegetable soup 1.84 tomato sauce 2.47
juice 3.72 marmalade 4,34
mayonnaise 4.00 milk powder 1.39
mustard 2.50 baking powder 1.31
condensed milk 1.07 beans 0.68
jam 4.15 rice 0.78
toilet soap 1.29 maize flour 0.82
vaseline 2.16 cola drinks 0.53
plaster 4,05 baby food 2.00
combs 0.50 sweets 2.78
clothes pegs 0.09 cloth material 5.60
brooms 5.81 toilet paper 0.70
tobacco 4,22 fishing line 8.96
t-shirts 11.90 insect spray 5.86
socks 3.11 bush knives 11.62
hammers 7.34 cement 23.38
axes 16.55 padlocks 12.49
kerosene 0.62 notebooks 0.75

bicycle 544.00 pencils 0.19



| nvoi ce cost

Transport cost

Cost price
Lai d-i n cost
Landed cost

Mar k- up

Mark-up rmultiplier

Mar gi n

Selling price

G oss surplus
G oss profit

Net surpl us

Net profit

Tur nover

Stock turn
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GLOSKARY

The price a retailer is charged for the
goods by the supplier.

The cost for having the goods trans-
ported to the shop.

The invoice cost + the transport cost.
Sane as cost price.
Sane as cost price.

An anmount added to the cost price to
arrive at the desired selling price.
The mark-up can be expressed as a
percentage of the cost price.

A nunber used to nultiply the cost price
in order to arrive at the selling price.

The difference between the actual sell-
ing price and the cost price. The nmar-
gin can be expressed as a percentage of
the selling price.

The cost price + the mark-up. The sell -
ing price is the price the custoners pay
inaretail shop

Sane as nargin.
Sane as nargin.

What is left fromthe gross surplus when
al |l expenses for running the shop have
been pai d.

Sane as net surplus.

The anount of sales over a period of.
tine.

A nmeasure on how qui ckly the goods are
sold. A high "stock turn rate" or few
"stock days" indicate that the goods
are not kept in stock for a long tine
before they are sold. This is good
busi ness.
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FORMULAS

| nvoi ce cost + Transport cost =

Cost price + Mark-up

Mark-up multiplier x Cost price

Actual selling price -

Mark-up % x Cost price

100

Cost price

Selling price

Selling price

Cost price = Margin

Margin % x Selling price

100

Cost price x 100
100 - Margin %

Margin % wanted x 100

100 - Margin % wanted

Sales (12 months)
Average stock value
(at selling price)

Mark-up

Margin

Selling price

Mark-up % required

Rate of stock turn
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MARGIN on Add to or MARGIN on Add to or
SELLING COST PRICE multiply SELLING COST PRICE| multiply
PRICE this COST PRICE PRICE this COST PRICE
required MARK-UP by required MARK-UP by
1% 1.01¢ 1.01 26% 35.0% 1.35
2% 2.05% 1.02 27% 37.0% 1.37
3% 3.1% 1.03 28% 39.0% 1.39
4% 4.2% 1.04 29% 41.0% 1.41
5% 5.3% 1.05 30% 43.0% 1.43
6% 6.4% 1.06 31% 45.0% 1.45
7% 7.5% 1.08 32% 47.0% 1.47
8% 8.6% 1.09 33% 49.5% 1.495
9% 10.0% 1.1 34% 51.5% 1.515
10% 11.0% 1.11 35% 54.0% 1.54
11¢% 12.5% 1.125 36% 56.5% 1.565
12% 13.5% 1.135 37% 59.0% 1.59
13¢% 15.0% 1.15 38% 61.5% 1.615
14% 16.5% 1.165 39% 64.0% 1.64
158 17.5% 1.175 40% 66.5% 1.665
16% 19.0% 1.19 41¢% 69.5% 1.695
17¢% 20.5% 1.205 42% 72.5% 1.725
18% 22.0% 1.22 43% 75.5% 1.755
19% 23.5% 1.235 44% 78.5% 1.785
20% 25.0% 1.25 45% 81.5% 1.815
21% 26.5% 1.265 46% 85.0% 1.85
22% 28.0% 1.28 47% 88.5% 1.885
23% 30.0% 1.3 48% 92.5% 1.925
24% 31.5% 1.315 49% 96.0% 1.96
25% 33.5% 1.335 50% 100.0% 2






